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Crossword 3
Levels 1 & 2

© Neale Blincoe
How to Dazzle at Maths Crosswords Book 1
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- Clues across Clues down -

- -
m u
:. 1. (Goldilocks and the ? Bears) + 2 3. Share £6 between 3 people. :.
w20 10+10+%+ "% Now add £13 -
U 4. 24-10-2 7. How many halves of cake .
-: 8. (Bx3)+(2x2)+40-2 make up 3 whole cakes? Now -:
o 12. £1.00 + £2.00 + 15p add 15 to your answer. -
w 14. 118 + (the number of sidesin2 9. How many players on a .
:l triangles) football team? :l
a 22. 20% + 7% + 2% = ’?@ 12. Billy the beetle measures 3cm.
“= 24. 1.6 + 1.6 (it's like 16 + 16). Is What is his length in mm? |
l: the answer a) 3.2, b) 3.3, or ¢) (Hint, look at a ruler) l:

m 3.47 13. 10x6)-8 m
m u
:l 26. Write in figures four thousand, 15. 240-3-2 -1 :l
e one hundred and forty-three 16. What’s next in this sequence? B
.: 31. (50% of £6) + £77 (Hint, 50% is 411, 414, 417, 420 .:
. a 7 23. 44 + 904 =74 -
2 35 (Bx10)+(5x10)+5 27. (9 x10) + (6 x 10) n
. 31. (v of £10) + £83 (Hint, %is like ®y
. ‘share between 2’) .
.: 32. Tom has a 0.5 chance of .:
o getting a Valentine’s kiss from ~ _m
'. Fia tomorrow. What’s the '.
n chance he won’t? a) 0.5 or .
- b) 0.6 -
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answers
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